
2

3

4

7

5
6

9

1

Item Part No. Description Qty. Comments

1

63-4356 268 Case & Plate Assembly (Left Hand)

163-4357 268 Case & Plate Assembly (Right Hand)
63-4383 269 Case & Plate Assembly (Left Hand)
63-4384 269 Case & Plate Assembly (Right Hand)

2

63-3585 268 Closer Body (Right Hand)

1

Included In
Item 1

63-3586 268 Closer Body (Left Hand)
63-4377 269 Closer Body (Left Hand)
63-4378 269 Closer Body (Right Hand)

3 63-3620 Mounting Plate Assembly 1
4 01-1019 #12-24 x 1/2" Phillips Flat Head Machine Screw 4
5 63-0047 Main Gear 1
6 01-9217 5/16"-24 Keps Locknut 1
7 63-0770* Cover Plate 1
8 63-6340* 268/269 Screw Pack (Not Shown) 1
9 --- #8-32 x 1/4" Phillips Flat Head Machine Screw 4

Included In
Item 810 --- #12 x 1 1/2" Phillips Flat Head Self Drilling/Tapping Screw (Not Shown) 4

11 --- #12-24 x 3/4" Phillips Flat Head Machine Screw (Not Shown) 4
    *  FIinish Required:  Powder Coat Finishes - EB, ED, EN, EP, EAB
                                     Plated Finishes - 04, 10B, 26D

PARTS LIST
Page No.    1
Rev:            A
Date:   11/07

268/269 CASE ASSEMBLY

ASSA ABLOY, the global leader
in door opening solutions



2

3

4

7

9

5
6

1

Item Part No. Description Qty. Comments

1

63-4360 268 Delayed Action Case & Plate Assembly (Left Hand)

163-4361 268 Delayed Action Case & Plate Assembly (Right Hand)
63-4385 269 Delayed Action Case & Plate Assembly (Left Hand)
63-4386 269 Delayed Action Case & Plate Assembly (Right Hand)

2

63-3844 268 Delayed Action Closer Body (Right Hand)

1

Included In
Item 1

63-3845 268 Delayed Action Closer Body (Left Hand)
63-4379 269 Delayed Action Closer Body (Left Hand)
63-4380 269 Delayed Action Closer Body (Right Hand)

3 63-3620 Mounting Plate Assembly 1
4 01-1019 #12-24 x 1/2" Phillips Flat Head Machine Screw 4
5 63-0047 Main Gear 1
6 01-9217 5/16"-24 Keps Locknut 1
7 63-0773* Delayed Action Cover Plate 1
8 63-6340* 268/269 Screw Pack (Not Shown) 1
9 --- #8-32 x 1/4" Phillips Flat Head Machine Screw 4

Included In
Item 810 --- #12 x 1 1/2" Phillips Flat Head Self Drilling/Tapping Screw (Not Shown) 4

11 --- #12-24 x 3/4" Phillips Flat Head Machine Screw (Not Shown) 4
    *  FIinish Required:  Powder Coat Finishes - EB, ED, EN, EP, EAB
                                     Plated Finishes - 04, 10B, 26D

PARTS LIST
Page No.   2
Rev:            A
Date:   11/07

268/269 DELAYED ACTION CASE ASSEMBLY

ASSA ABLOY, the global leader
in door opening solutions



2

4

7

8

3

5
6

1

Item Part No. Description Qty. Comments

1

63-4356 268 CSP Case & Plate Assembly (Left Hand)

163-4357 268 CSP Case & Plate Assembly (Right Hand)
63-4383 269 CSP Case & Plate Assembly (Left Hand)
63-4384 269 CSP Case & Plate Assembly (Right Hand)

2

63-3585 268 Closer Body (Right Hand)

1

Included In
Item 1

63-3586 268 Closer Body (Left Hand)
63-4377 269 Closer Body (Left Hand)
63-4378 269 Closer Body (Right Hand)

3 63-3620 Mounting Plate Assembly 1
4 01-1019 #12-24 x 1/2" Phillips Flat Head Machine Screw 4
5 63-0047 Main Gear 1
6 01-9217 5/16"-24 Keps Locknut 1
7 63-0772* CSP Cover Plate 1
8 63-6341* 268/269 Security Screw Pack (Not Shown) 1
9 --- #8-32 x 1/4" 6 Lobe Tamper Resistant Flat Head Machine Screw 4

Included In
Item 810 --- #12 x 1 1/2" 6 Lobe Tamper Resistant Flat Head Wood Screw (Not Shown) 4

11 --- #12-24 x 3/4" 6 Lobe Tamper Resistant Flat Head Machine Screw (Not Shown) 4
    *  FIinish Required:  Powder Coat Finishes - EB, ED, EN, EP, EAB
                                     Plated Finishes - 04, 10B, 26D

PARTS LIST
Page No.   3
Rev:            A
Date:   11/07

268/269 CSP CASE ASSEMBLY

ASSA ABLOY, the global leader
in door opening solutions



2
15

16

11

12

13

8

10

5

6

4

9

17

20

14

18

3
CSPS SHOWN

1

PARTS LIST
Page No.   4
Rev:            A
Date:   11/07

268/269 CSPS/CSPD CASE ASSEMBLY

ASSA ABLOY, the global leader
in door opening solutions



4

6

7

9
8

5

Item 3 (63-4359) CSPD Mounting Plate
& Switch Assembly

4

5

6

8

9
Item 3 (63-4358) CSPS Mounting Plate

& Switch Assembly

Item Part No. Description CSPS
Qty.

CSPD
Qty. Comments

1

63-4354 268 CSPS Case & Plate Assembly (Left Hand) 1 -63-4355 268 CSPS Case & Plate Assembly (Right Hand)
63-4366 268 CSPD Case & Plate Assembly (Left Hand) - 163-4367 268 CSPD Case & Plate Assembly (Right Hand)
63-4387 269 CSPS Case & Plate Assembly (Left Hand) 1 -63-4388 269 CSPS Case & Plate Assembly (Right Hand)
63-4389 269 CSPD Case & Plate Assembly (Left Hand) - 163-4390 269 CSPD Case & Plate Assembly (Right Hand)

2

63-3623 268 CSPS/CSPD Closer Body (Left Hand)

1 1
Included In

Item 1

63-3624 268 CSPS/CSPD Closer Body (Right Hand)
63-4381 269 CSPS/CSPD Closer Body (Left Hand)
63-4382 269 CSPS/CSPD Closer Body (Right Hand)

3 63-4358 CSPS Mounting Plate & Switch Assembly 1 -
63-4359 CSPD Mounting Plate & Switch Assembly - 1

4 63-3621 CSPS Mounting Plate Assembly 1 -

Included In
Item 3

63-4336 CSPD Mounting Plate Assembly - 1
5 63-0808 Spacer 2 4
6 63-4333 Switch Assembly (Simulated Roller) 1 1
7 63-4334 Switch Assembly (Flat) - 1
8 01-1496 #2-56 x 1/2" Phillips Pan Head Machine Screw 2 4
9 01-0150 Wire Clip 1 2
10 63-0787 Cam 1 1

Included In
Item 1

11 63-0789 Cam Driver 1 1
12 01-9105 #4 External Tooth Lock Washer 1 1
13 01-4449 #4-40 x 3/8" Button Head Socket Cap Screw 1 1
14 01-1019 #12-24 x 1/2" Phillips Flat Head Machine Screw 4 4
15 63-0047 Main Gear 1 1
16 01-9217 5/16"-24 Keps Locknut 1 1
17 63-0793* Cover Plate (Long) 1 1
18 63-0794* Cover Plate (Short) 1 1
19 63-6341* 268/269 Security Screw Pack (Not Shown) 1 1
20 --- #8-32 x 1/4" 6 Lobe Tamper Res. Flat Head Machine Screw 8 8

Included In
Item 1921 --- #12 x 1 1/2" 6 Lobe Tamper Res. Flat Head Wood Screw (Not Shown) 4 4

22 --- #12-24 x 3/4" 6 Lobe Tamper Res. Fl. Head Machine Screw (Not Shown) 4 4
    *  FIinish Required:  Powder Coat Finishes - EB, ED, EN, EP, EAB
                                     Plated Finishes - 04, 10B, 26D

PARTS LIST
Page No.   5
Rev:            A
Date:   11/07

268/269 CSPS/CSPD CASE ASSEMBLY
(CONTINUED)

ASSA ABLOY, the global leader
in door opening solutions


	Page 1
	Drawing View1

	Page 2
	Drawing View2

	Page 3
	Drawing View3

	Page 4
	Drawing View4

	Page 5
	Drawing View9
	Drawing View11


